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[ Ntoko3a 3,3-5,5 MMOIb/n
XonectepuH 3,2-5,6 MMOIb/n
JlnnonpoTtenabl HN3KOW 1,71-3,5 MMOIb/n
nnotHocTun (JIFNHIMM)
Tpurnuuepuabl 0,41-1,8 MMornb/n
OO6wmm benok 60-85 r/n
AnbbymMuH 32-52r1/n

O6wmnn dunnpyouH 3,4-17,1 MKMOIb/n
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CX = KOHLIeHTpaUus rMoKo3bl B npobe

CcT = 5,5 Mmmonb/n(KoHueHTpauua rmoKo3bl B
CTaHOapTHOM pacTBope)

DCT = onTuyeckasi NfI0oTHOCTb CTaHAAPTHOro pacTBopa
DX = onTu4eckasi NI0THOCTb NPOObI
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M3amepeHne nynbcoBOU BOJHbI



dparmeHT BUOEO

* [lynbc. BonHa Bngeo doparmeHT 0.59-1.23
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